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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

1- Before you ————— to the next question, you should take some time to make sure
you’re happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute - ; the kids spilled food all over the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) fiasco

3- We were very unhappy with the --—------ way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used -------—- when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would get so upset about such a -----=---- matter.
1) contradictory ~ 2) consistent 3) colloquial 4) trivial

6- The police wondered about the man’s --=--vev-- for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to --—-—-—-
forcibly.

1) dissent 2) vanish 3) avoid 4} abate

8- “It is my firm --——-—- ' said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4} deprivation

9- You’ll have a better chance of finding that unusual word if yvou look it up in a/an
——-—- dictionary.
1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to --—-—- their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers, are pesticides used to kill unwanted plants.
Selective herbicides kill specific targets, (11) =seeeeaee- the desired crop relatively unharmed.
Some of these act by interfering with (12) ~=eeemeem-n and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground. industrial sites. railwavs and railway
embankments are not selective (13) ==meeaeeee all plant material with which they come into
contact. Smaller quantities are used in forestry. pasture systems, and management of areas
(14) ======----as wildlife habitat,

Some plants produce natural herbicides. (135) === the genus Juglans (walnuts). or the

tree of heaven: such action of natural herbicides. and other related chemical interactions. is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed

3) the weed in growing 4) the growing of weed
13- 1) and kill 2) killer of 3) to kill 4) which kill
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14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

PART C: Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3), or (4)

|\and then mark it on your answer sheet.

PASSAEG I:

Migration 1s a generic term used to refer both to mmmigration (or in-migration) and to
emigration (or outmigration). Formally. these terms may refer to various types of change of
residence, but we customarily speak of immigration and emigration when the change of
residence is between nations. and of in-migration and out-migration when the change of
residence is between subunits of a nation. The term “net migration” is used to denote the
difference between the number of in-migratory events and the number of out-migratory events
with respect to a particular geographic unit time period.

A migration stream is defined as the total number of migratory events from Place A to Place B
during a given time period. The counterstream is defined as the total number of migratory events
from Place B to Place A. The sum of events in the stream and counterstream i1s termed the gross
interchange between A and B. The effectiveness of migration is defined as the ratio of the net
migration between A and B and the gross interchange between the two places. Logically, therefore.
the effectiveness of migration can vary from a low of 0 to a high of 1. For most pairs ol geographic
units the effectiveness of migration tends to be much closer to 0 than to 1.

Certain types of migration are commonly distinguished. Petersen (1975) made useful
distinctions between the concepts of free, impelled and forced migration. In free migration the
will of the migrant is the main factor. In impelled migration the will of the migrant is
subordinated to the will of other persons. In forced migration the will of other persons is
paramount, and the will of the migrant of no weight at all. Return migration is defined as
migration back to a place in which one had formerly resided. For most individuals who have
migrated several times during their lifetime, return migrations are an important component of
the total number of movements. Chain migration refers to the common pattern whereby a given
individual migrates to a particular destination in which he already has kin or friends who have
previously migrated from his own area of origin.

The main purpose of the passage is to ~------—--- .

1) discuss reasons for migration

2) define the concept of migration and its types

3) present geographical analysis of immigration patterns

4) analyze the rate of immigration and emigration in the world

According to the passage, it is true that .

1) it is rare to see the effectiveness of migration close to one

2) the difference between the number of in-migratory events, and that of out-migratory events
is usually zero

3) migrants hardly ever return to their area of origin

4) out-migration occurs when migrants leave their homeland

The common element in all types of migration is --——---—--—- 2

1) force 2) nations 3) tme 4) will
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It can be inferred from the passage that the effectiveness of migration ------------ .
1) can be measured quantitatively

2) refers to the difference between a migration stream and the counterstream

3) in usually a constant figure

4) is usually very high in most geographical units

The word "denote" in line 5 is closest in meaning to ---------—-- i
1) contrast 2) devote 3) decrease 4) refer
PASSAGE 2:

The world has changed dramatically over the past 10 years, but some of the issues that faced
the tourism industry in the early 1990's are still here today. The environment in which the
industry operates requires tourism stakeholders to fundamentally shift their strategic approach
not only to resolve long-standing issues but more importantly to effectively address current
challenges and capitalize on new opportunities.

Changing demographics. shifting travel patterns and volatile economic conditions are
increasing the pressure on industry stakeholders to develop effective campaigns and business
strategies. More recently. health and safety i1ssues such as pandemics and global security
concerns as manifested by WHTI have increased the urgency for industry action.

The challenges facing the tourism industry are complex and numerous. Addressing these
challenges will require a high level of coordination and cooperation to marshal resources more
effectively. Fiscal pressures and competing priorities among all F/P/T partners and tourism
stakeholders will require new and innovative partnership arrangements to respond to growing
competition and global opportunities.

Opportunities exist for governments and the private sector to seize the extraordinary
opportunity afforded by "mega events" occurring in Canada and abroad. For example, Canada
can learn from Australia’s experience with the Sydney Games in 2000 as 1t prepares to host the
2010 Olympics in Vancouver. The Sydney Games demonstrated that strong public/private
partnerships and cooperation result in widespread incremental benefits. The challenge
confronting governments and tourism stakeholders will be to establish the necessary linkages
to ensure the development of collaborative strategies in conjunction with maior international or
domestic events so that lasting benefits will be created across the country.

The main purpose of the passage is to ~--—-------- :

1) list the responsibilities of tourism stakeholders

2) analyze the changes in the world in the last decade

3) present the challenges in tourism besides mentioning the reasons for them
4) suggest some strategies to develop effective campaigns for tourism

The word "their" in line 3 refers to «=---aaee-- -
1) current challenges 2) tourism stakeholders
3) new opportunities 4) long-standing 1ssues

It can be inferred from the passage that the best strategy for addressing challenges in
tourism is ---------—--— .

1) increasing competition among tourism stakeholders

2) achieving global security

3) business development

4) partnership and cooperation

The word "marshal" in line 11 is closest in meaning to -------- -
1) increase 2) enjoy 3) satisfy 4) organize
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According to the passage, innovative partnership arrangements is needed in order to
1) hold different "mega events" in the world

2) address pandemics and global security concerns

3) respond to growing competition and global opportunities

4) consider fiscal pressure and competing priorities

PASSAGE 3:

Ecotourism is a form of tourism involving visiting fragile. pristine, and relatively
undisturbed natural areas, intended as a low-impact and often small scale alternative to
standard commercial (mass) tourism. Its purpose may be to educate the traveler, to provide
funds for ecological conservation. to directly benefit the economic development and political
empowerment of local communities. or to foster respect for different cultures and for human
rights. Since the 1980°s ecotourism has been considered a critical endeavor by
environmentalists, so that future generations may experience destinations relatively untouched
by human intervention. Several university programs use this description as the working
definition of ecotourism.

Generally. ecotourism deals with living parts of the natural environments. Ecotourism
focuses on socially responsible travel, personal growth, and environmental sustainability.
Ecotourism typically involves travel to destinations where flora. fauna. and cultural heritage
are the primary attractions. Ecotourism is intended to offer tourists insight into the impact of
human beings on the environment, and to foster a greater appreciation of our natural habitats.

Responsible ecotourism programs include those that minimize the negative aspects of
conventional tourism on the environment and enhance the cultural integrity of local people.
Therefore, in addition to evaluating environmental and cultural factors, an integral part of
ecotourism is the promotion of recyeling. energy efficiency, water conservation, and creation
of economic opportunities for local communities. For these reasons. ecotourism often appeals
to advocates of environmental and social responsibility.

The term 'ecotourism’, like 'sustainable tourism', is considered by many to be an oxymoron.
Tourism in general depends upon and increases air transportation, contributing significantly to
greenhouse gas emissions from combustion placed high into the stratosphere where they
immediately contribute to the heat trapping phenomenon behind global warming and climate
change. Additionally, the overall effect of sustainable tourism is negative, where, like
ecotourism, philanthropic aspirations mask hard-nosed immediate self-interest.

The main purpose of the passage is to ------—--- :

1) typify the responsibilitics of different ecotourism programs

2) show the relationship between cultural heritage and ecotourism

3) advocate the environmental and social responsibilities in ecotourism

4) represent the ecotourism and its advantages for the natural environment

According to the passage, all of the following are among the aims of ecotourism EXCEPT

1) raise people’s awareness ol responsible travel

2) put an end to global warming and climate change

3) conserve natural resources

4) minimize the negative impacts of human beings on the environment activities
The word “appreciation” in line 14 is closest in meaning to --=-—-——--,

1) recognition 2y evaluation 3) greeting 4) effect
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It can be inferred from the passage that

1) environmentalists have taken an interest in ecotourism since late 20th century

2) there 1s no clear-cut definition of ecotourism

3) ecotourism aims to make local people leave their homes in natural areas and settle in urban
areas

4) ecotourism began as a movement against conventional tourism

It can be inferred from paragraph 4 that ecotourism and sustainable tourism ---——---—— —

1) have so far had negative effects on the environment

2) are quite similar as to the interests they pursue

3) have opposite meanings

4) both take environmental issues into considevation
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